M AR 7 AREE AR L

MA Series Stainless Steel Mini Cylinder

1T 75 Ordering Code

MA - U - 20x50-25 - S - LB - MT
B85 Back Cover Type *| )
seskm g
RIS Series Code l BAERREE Sensor
l ANETE ElEE Fixed Type l
=H. 2R ~ Adjust Storke l
= XYC-03RBEMEFFX
MA: Ezha CM: ER2 i Bore l s
MSA: B U. FRE ! e AN e_03R
MAD: ShEzhE Blank: Standard With 16-40 0~100mm LB: IEEEE magnetism switch
MACD: Sz E % Eye Mounting mm FA: BIEEERERAS)  Sensor bend
MAC: Ezh4EhE CM: Round Rear Cover - SDB: [G&=E R (RIER)
MAJ: SRHET R U: Flat Rear Cover HARS Magnet Code ). et
MA: Double Action Type l Blank: Normal typg
MSA: Single Extrusion Type 5[ o LB: Front & back'ﬂxed type
MAD: Double-shaft Double Action Type v FA: Front cover fixed type

S: HE#IR
Blank: Without Magnet
S: With Magnet

MACD: Double Shaft Double Action Damping Type 1772 Stroke (Front flange type)
MAC: With Buffer Type

MAJ: Double—shaft & Adjustable Stroke Type

F#& Specification

SDB: Back cover fixed type
U: Back Cover Fixed Type

K12 Bore (mm) 16 20 25 32 40 c ;?_ir%er
HEELT/Motion Pattern S &znzt Double Action or Single Action
T E/Working Medium =5 Air
ElEER/Fixed Type HAR/Normal Type LBE/Type FAE/Type SDBE/Type UH/Type
{EFEIISBE/Operating Pressure Range 0.1~0.9MPa
{RIUEMI ESI/Ensured Pressure Resistance 1.35MPa
IR ESEE/Operating Temperature Range -5~70°C
{3 ESEEl/Operating Speed Range 50~800mm/s
SEhAIR frERY/Standard Type FriEsR A Anti-crash Buffer
Buffer Type £2hA/Damping Type - AEREH Adjustable Buffer
EENO1R/Port Size M5x0.8 G1/8"
e P s p
NO. Designation NO. Designation
1 TRZEEFTI263 Piston Rod Nut 9 7&ZE Pistion
2 JEZEFT Piston Rod 10 | &EZEOAME Pistion O-ring
12 3456 7 8 9 @\ /1_1 12 1314 15 3 H=ZHE ) 11 m%ﬁ(ﬁﬁﬁl)
}gh nl 3 Front Cover Sea.l Ring Magnet (Optional)
T i 4 Bifmih& Bearing 12 fifEETR Wear Ring
: ’% """""""""" \\ """" i @ 1= 5) BIZIRE Front Cover Nut | 13 ZhEEE Seal Buffer
‘%ni ¥ _JZ 6 AiZ Front Cover 14 | W7<FAiRE Hex Socket Screw
7 Stainlezs:?é?egel Tube 15 J53 Back Over
8 FhfEEF Anti-crash Buffer

92



MA R FIAGENRE AR THL

MA Series Stainless Steel Mini Cylinder

1772 Stroke

FES TRAE(TRE BAITE BIFTIE
Bore(mm) Standard Stroke Max.Stroke Permissible Stroke
16 25 50 75 80 100 125 160 175 200 300 500

20 25 50 75 80 100 125 160 175 200 250 300 500 650

25 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 500 650

32 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 500 650

40 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 500 650

42 R~ Overall Dimension

A+ f7#(Stroke)
B C-+ f7#2(Stroke) D

A Z gl == 5
o ‘ ilivid _| R K (‘@‘i\\
- TR W &J

| T
P!

o

N

X<

(0]
=S

U
AX

[ . A
“’_V/M - i R { N2
A1+1T #2(Stroke)
B C+ {7#2(Stroke)
3 ARSI 2%
H X
MA-CM = % A
ol o Rz - -3
dV/ W,
A2+ 17#2(Stroke
B C +{7#2(Stroke)
F G/G Gg/z
P H ARG/ u
dah g 0
MA-U { } i
\§ J - e —
7 /
dV/ W
M
JR<JZ Dimension Sheet
A1 Bore A A1 A2 B © D D1 E F G H | J K
16 114 | 114 98 38 60 16 16 22 16 10 16 10 5 M6 x 1
20 137 128 116 40 76 21 12 28 12 16 20 12 6 M8 x1.25
25 141 134 | 120 44 76 21 14 30 14 16 22 17 6 M10x 1.25
32 147 134 120 44 76 27 14 30 14 16 22 17 6 M10x1.25
40 149 | 136 | 122 46 76 27 14 32 14 16.7 24 17 7 M12x 1.25
A2 Bore L M P Q R R1 S U V W X AR AX AY
16 M16x 1.5 14 6 12 14 14 9 21 6 5 M5 6 24 27.5
20 M22x 1.5 10 8 16 19 10 12 27 8 6 G1/8" 7 33 29
25 M22x1.5 12 8 16 19 12 12 30 10 8 G1/8" 7 33 29
32 M24 x 2.0 12 10 16 25 12 15 35 12 10 | G1/8" 8 37 32
40 M30x 2.0 12 12 20 25 12 15 41.6 16 14 G1/8" 9 47 41

93



MA R 7 REEWRAREL

MA Series Stainless Steel Mini Cylinder

MR~ Overall Dimension

MSA MSA-CM
A+ 17 ¥ (Stroke) A1+ {7 #(Stroke)
B C+ {7#(Stroke) D B - c::ﬂ(suoxey
TE AFR & x Eﬁ s P(H8) TE ﬁE ¢G%. x\ Ts/z _2_11_
i )= a T
jpactm ﬁi N oAl s
D
< Bs i)
MSA-U . :
R<}Z Dimension Sheet
A A1l A2 (©
S 51 51 51 B 51
A2+ 7E(Stroke! BOre - = ) = by = - =
——C 0~80 | 100 | 9750 | 400 [0750 | 4g0 0~80 | 400
B (AR 16 114 | 139 | 128 | 153 | 98 | 123 | 38 | 60 | 85
20 137 | 162 | 134 | 159 | 116 | 141 | 40 | 76 | 101
pEl i 25 141 | 166 | 134 | 159 | 120 | 145 | 44 | 76 | 101
ez 32 147 | 172 | 136 | 161 | 120 | 145 | 44 | 76 | 101
40 149 | 174 | 122 | 144 | 122 | 147 | 46 | 76 | 101
BE D DI[E|[F|[GIH|I|J K L |M|P|Q|RI|RI|S|U]|V|wW| X |AR|AX|AY
16 1616|2216 1016 |10] 5| Mex1 |M16x15|14| 6 |12|14|14| 9|21 |6 |5 | M5 | 6 |25/ 22
20 21[12]28[12[16]20]12[ 6 | mBx1.25 [ M22x1.5[10] 8 [16[19[10[12] 27 [ 8 [ 6 [Gue [ 7 [33]20 [t
n
25 2114 |30 |14 |16 |22 |17 | 6 | M10%x1.25 | M22x1.5 | 12| 8 |16 |19 |12 12| 30 | 10 | 8 | G1/8" | 7 | 33 | 29 YARCEr
32 27 [14 |30 |14 |16 [ 22|17 | 6 | M10%x1.25 | M24x2.0 |12 |10 |16 | 25 |12 | 15| 35 | 12 | 10 | G1/8" | 8 | 37 | 32
40 27 |14 |32 |14 |22 |24 [ 17| 7 | M12x1.25 | M30x2.0 |12 | 12 |20 | 25 | 12| 15 |41.6| 16 | 14 | G1/8" | 9 | 47 | 41
YMEZR~F Overall Dimension
MAD MAJ
A+ {7 #2(Stroke) X2 A1+i718(Stroke) X 2
B C+ﬁ$§§(mke) Eo?-’r_ﬁ_(stroke) AY B C+ §7#(Stroke) B+ {7 #(Stroke) AY
E Fl.G G F, o E F . G G | F_ {3 #(Stroke) T
Hi| AR'[G/ 2.x ﬁ/_z A/ A : ‘\ARQQ' | 2x o7
7 I i il N = i [ N
i _ —| AN x =t 7 A \
1e =S 3 g — | —= — oM =
N AN &7 2
SV/W, KJ v/ W chililﬁg kj
’M—i M T
4R
BE | A|at|B|C|E|F|G|H|I|J]| K L M| U |V IW| X |AR|AX[AY| T
16 136|135/ 38 | 60 | 22 | 16 | 10 | 16 | 10 | 5 | M6x1 | M16x15| 14| 21 | 6 | 5 | M5 | 6 | 25 | 22 | 16
20 156|153 | 40 | 70 | 28 | 12 | 16 | 20 | 12 | 6 | M8x1.25 | M22x15| 10 | 29 | 9 | 6 |G1/8"| 7 | 33 | 29 | 19
25 164 | 161| 44 | 70 | 30 | 14 | 16 | 22 | 17 | 6 |M10x1.25| M22x15 | 12 | 34 | 10| 8 |G18'| 7 | 33 | 29 | 21
o 164 [161| 44 | 70 | 30 | 14 | 16 | 22 | 17 | 6 | M10x1.25| M24x15 | 12 | 395 12 | 10 |G18"| 8 | 37 | 32 | 21
40 168|164 | 46 | 92 | 32 | 14 | 22 | 14 | 17 | 7 [M12x1.25| M30x2.0 | 12 | 495]| 16 | 12 |G1/8"| 9 | 47 | 41 | 21




	德捷catlogue-2021 92
	德捷catlogue-2021 93
	德捷catlogue-2021 94



